Petrella's Italian Cafe, 2174 W 9 Mile Rd Pensacola, FL 32543, **Pulled:** 03/09/2025 00:34:37 Settings: Date Range: 03/09/2025 - 03/09/2025 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier

	/2025 05:00:00 to 03/10/2025	04:59:59	
, QR Ordering	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
TO GO 20	-		
ob Title	Pay Rate	Hours	Tota
OC - Host	\$0.00	0.42	\$0.0
Sales: \$18,650.26	Total Claimed Tips	0.42	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Aldrich, Matthew			
ob Title	Pay Rate Total	Hours 0.00	Tot: \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Allen-Tompkins, Lochlan	Davi Data	11 auro	Tat
ob Title	Pay Rate Total	Hours 0.00	Tota \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Allen-Tompkins, Lochlan	D D-+-	Haura	
lob Title	Pay Rate Total	Hours 0.00	Tota \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Anderson, Gracie			
lob Title	Pay Rate Total	Hours 0.00	Tota \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Anderson, Marsha			
OC - Server	Pay Rate \$12.00	Hours 40.00	Tota \$480.0
OC - Server - OT	\$12.00	40.00	\$81.2
	Total	44.52	\$561.2
Sales: \$5,803.80	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$561.2 \$12.6
Banks, Demarco			7
ob Title	Pay Rate	Hours	Tota
OC - Dishwasher	\$13.00	28.41	\$369.3
	Total	28.41	\$369.3
Sales: \$0.00	Claimed Tips		\$0.0 \$0.0
Tips: \$0.00	Gratuity Grand Total		\$369.3
	Avg Payrate		\$13.0
Barnes, Ashanti			•
ob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$0.0
	Avg Payrate		\$0.0
Bush, Shaun			
lob Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
Byrd Thomas	Avg rayiale		30.U
Byrd, Thomas	Day Pate	Hours	Tota
	Pay Rate Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
Channelly Duitterne	Avg Payrate		\$0.0
Chasarik, Brittany			_
OC - Host	Pay Rate	Hours	5132 9
	\$13.00 Total	10.23 10.23	\$132.9 \$132.9
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$132.9
	Avg Payrate		\$13.0
Cleveland, Adrian		Uarray	
ob Title	Pay Rate	Hours	Tota

OC - Dishwasher	\$12.00 Total	10.67 10.67	\$128.0 \$128.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total		\$128.0
Conner, Darnell	Avg Payrate		\$12.0
Job Title	Pay Rate	Hours	Tota
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
Cugnon Margaux	Avg Payrate		\$0.0
Cugnon, Margaux	Pay Rate	Hours	Tot
	Total	0.00	\$0.0
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.0 \$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Cugnon, Melody	Pay Rate	Hours	Tot
OC - Server	\$8.98	29.12	\$261.4
Sales: \$4,697.39	Total Claimed Tine	29.12	\$261.4 \$0.0
Tips: \$0.00	Claimed Tips Gratuity		\$0.0
• •	Grand Total		\$261.4
Davia Christenhar	Avg Payrate		\$8.9
Davis, Christopher	Pay Rate	Hours	Tot
OC - Dishwasher	\$13.00	32.45	\$421.8
Sales: \$0.00	Total Claimed Tips	32.45	\$421.8 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$421.8 \$13.0
Davis, Ryan	Avg Payrate		\$15.U
Job Title	Pay Rate	Hours	Tot
OC - Dishwasher	\$12.00 Total	30.45 30.45	\$365.3
Sales: \$0.00	Claimed Tips	50.45	\$365.3 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$365.3 \$12.0
Edlund, John			
Job Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0 \$0.0
Ellis, Kayla	Avg Payrate		ŞU.U
Job Title	Pay Rate	Hours	Tot
OC - Server	\$8.98	25.71 6.80	\$230.9
OC - Host	\$12.00 Total	32.51	\$81.5 \$312.4
Sales: \$5,700.44	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$312.4
	Avg Payrate		\$9.6
Flores, Lenzy			
Job Title	Pay Rate Total	Hours 0.00	Tot \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0
	Avg Payrate		\$0.0 \$0.0
Garrette, Demontrez			
Job Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$0.0 \$0.0
Garrette, Marguel	Avgraylate		
Job Title	Pay Rate	Hours	Tot
Sales: \$0.00	Total Claimed Tips	0.00	\$0.0 \$0.0
Tips: \$0.00	Gratuity		\$0.0 \$0.0
	Grand Total		\$0.0
Green, Azell	Avg Payrate		\$0.0
Job Title	Pay Rate	Hours	Tot
OC - Dishwasher	\$12.00	35.19	\$422.2
Sales: \$0.00	Total Claimed Tips	35.19	\$422.2 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total Avg Payrate		\$422.2 \$12.0
Haser, Epenser	Avg rayiale		Ş12.U
Job Title	Pay Rate	Hours	Tot
Salas: \$0.00	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0

Avg Payrate		\$0.0
Pay R	ate Hours	Tot
		\$0.0
		\$0.0 \$0.0
		\$0.0
		\$0.0
		\$0.0
Avg Payr	ate	\$0.0
		_
		Tot \$486.9
		\$486.9
Claimed Tips		\$0.0
Gratuity		\$0.0
		\$486.9
Avg Payrate		\$14.0
Day Pata	Hours	Tot
		\$0.0
Claimed Tips		\$0.0
Gratuity		\$0.0
		\$0.0 \$0.0
Avg Payrate		ŞU.(
Day Bata	Hours	Tet
		Tot \$217.
\$12.00	10.93	\$131.
Total	35.15	\$348.
		\$0.0 \$0.0
		\$0. \$348.
Avg Payrate		\$348. \$9.
Pay Rate	Hours	То
\$12.00	35.99	\$431.
\$0.00		\$0.
		\$96. \$528.
	45.50	\$0.
Gratuity		\$0.
Grand Total		\$528.
Avg Payrate		\$11.
		_
		To \$480.
		\$56.
Total	43.16	\$536.
Claimed Tips		\$0.
		\$0. \$536.
		\$12.
Pay Rate	Hours	То
\$16.00	40.00	\$640.
		\$104.
	44.35	\$744. \$0.
Gratuity		\$0.
Grand Total		\$744.
Avg Payrate		\$16.
Pay Rate	Hours	To
	0.00	\$0. \$0
		\$0. \$0.
Grand Total		\$0. \$0.
Avg Payrate		\$0.
Pay Rate	Hours	To
\$12.00	6.75	\$81.
		\$298. \$16.
Total	41.22	\$396.
Claimed Tips		\$0.
Gratuity		\$0.
		\$396. \$9.
		, , , ,
Pav Rate	Hours	То
Total	0.00	\$0.
Claimed Tips		\$0.
		\$0.0 \$0.0
		\$0. \$0.
Avg rayiate		<i>.</i>
Pay Rate	Hours	To
\$12.00	38.15	\$457.
JIZ.00		\$457.
Total	38.15	
Total Claimed Tips	38.15	\$0.
Total	38.15	\$0.0 \$0.0 \$0.0 \$457.3
	Pay Rate S14.00 Total Claimed Tips Grand Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate S8.98 S12.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate S12.00 Total Claimed Tips Grand Total Avg Payrate Pay Rate S12.00 Total Claimed Tips Grant Total Avg Payrate Pay Rate S12.00 S18.00 Total Claimed Tips Grant Total Avg Payrate Pay Rate S12.00 S18.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate S12.00 S18.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate S12.00 S18.00 S24.00	Pay RateHours \$0.0040.00\$0.002.74Total42.74Claimed TipsGranuityGrand TotalAvg PayratePay RateHours\$14.0034.78Total34.78Claimed TipsGrand TotalAvg Payrate0.00Claimed TipsGrand TotalAvg Payrate0.00Claimed TipsGrand TotalAvg Payrate0.00Claimed TipsGrand TotalAvg Payrate0.00Claimed TipsGrand TotalAvg Payrate0.03Total35.15Claimed TipsGrand TotalAvg Payrate0.03Total35.15Claimed TipsGrand TotalAvg Payrate35.99\$0.004.01\$18.005.36Total45.36Claimed TipsGrand TotalAvg Payrate45.36Claimed TipsGrand TotalAvg Payrate40.00\$12.0040.00\$12.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00\$15.0040.00<

lob Title				Pay	Rate	Hours	Tota
				,	Total	0.00	\$0.00
	Sales: \$0.00)		Claime	d Tips		\$0.00
	Tips: \$0.00			Gra	atuity		\$0.00
				Grand			\$0.00
				Avg Pa	yrate		\$0.00
Riley, T	ammy						
lob Title				Pay	Rate	Hours	Tota
	OC - Serv	/er		Ş	8.98	18.67	\$167.69
				1	Total	18.67	\$167.69
	Sales: \$3,33	33.85		Claimed	Tips		\$0.00
	Tips: \$0.	00		Gra	tuity		\$0.00
				Grand	Total		\$167.69
				Avg Pay	/rate		\$8.98
Santos,	Elizabet	h					
lob Title						Hours	Tota
	OC - Serv	/er		ç	\$8.98	11.82	\$106.11
				-	Total	11.82	\$106.11
	Sales: \$2,10			Claimed			\$0.00
	Tips: \$0.	00			tuity		\$0.00
				Grand 1			\$106.11
				Avg Pay	/rate		\$8.98
Sparks,	Kelly						
Job Title				Pay	/ Rate	Hours	Tota
					Total	0.00	\$0.00
	Sales: \$0.00			Claime			\$0.00
	Tips: \$0.00				atuity		\$0.00
				Grand			\$0.00
				Avg Pa	yrate		\$0.00
Stough	, Allen						
lob Title				Pay	Rate	Hours	Tota
		-			Total	0.00	\$0.00
	Sales: \$0.00			Claime			\$0.00
	Tips: \$0.00				atuity		\$0.00
				Grand			\$0.00
-1				Avg Pa	yrate		\$0.00
	kins, Cou	rtney			. .		
lob Title				Рау	Rate	Hours	Tota
	C-1 60	`		<i>ci</i> ·	Total	0.00	\$0.00
	Sales: \$0.00			Claime			\$0.00
	Tips: \$0.00				atuity		\$0.00
				Grand			\$0.00 \$0.00
A/h+ -	Due ne de su			Avg Pa	lyidle		30.00
vv nyte, Job Title	Brandor	•		Par	y Rate	Hours	Tota
ob mie	OC - Dishv	vasher			513.00	37.64	\$489.26
	00 01311	- aonei			Total	37.64	\$489.26
	Sales: \$	0.00		Claime			\$0.00
	Tips: \$0				atuity		\$0.00
					l Total		\$489.26
				Avg Pa			\$13.00
			Summ	ary			
Job Code		Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pay	OT Pay
00	- Host	108.05	108.05	0.00	\$1,371.43	\$1,371.43	\$0.00
	Server	188.53	182.79	5.74	\$1,860.01	\$1,762.28	\$97.73
	301401		200.00	11.26	\$3,261.41	\$3,108.04	\$153.37
OC - OC - Dis	shwasher	302.05	290.80	11.20			+
OC - OC - Dis		302.05 4.01	4.01	0.00	\$0.00	\$0.00	\$0.00
OC - OC - Dis Default OC -	shwasher						